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2024 FRLH#ED —WHKBARSEL A
1A18

(19954E2)i& f(x) & (—0,40) WS BMERE x,,x,,
Y x>x, BBE f(x)> f(x,), W ()

(A) HERE x, £'(x)> 0;
(B) MHER x, f'(—x) =< 0;
(C) EE& (—x) RiAHEm,
(D) BE- f(-x)

l1A28

(20004E1,2)i8 f(x),g(x) REXTFEHTSHEE A
Fl(x)g(x)- f(x)g'(x)<0, MY a<x<b BB ( ).

(A) f(x)g(B)> f(B)g(x) (B) f(x)g(a)> f(a)g(x)
(C) f(x)g(x)> f(b)g(d) (D) f(x)g(x)> f(a)g(a)

FoRN-EH=n F-£1370



1 A38
8 [cig‘}f((?_;(gfﬂ=—l. R 0 HATFIRRS, MESx=akb ().
(A) F(x) MISEEE, B £ =0
(B) f(x) ERIBHRALE,
(C) f(x) ERABH/IME,
(D) f(x) BEIEMES n HEEEE.

1A4B

(2001453) /(x) MISHE x=o b, X im” Dot @ ()

X—da

(A)x=a B f(x) FR/MER;

(B)x=a & f(x) FHRXER;

(C)(a, f(a)) REAER y = f(x) KR,

(D)x=a AR f(x) BIRER, (a,f(0) ERREMEZE vy = f(x) BB



1A58

(2008 2)H% y=(x—5)x° KIEBEAIRN |

1A68
(200452, 3)BHER y=f(x) W= x #HR xf"(x)+3x[f'(x) =1-¢"
FL(x,)=0 (x,z0) W ( ).
(A) f(x,) B f(x) BIERKIE;
(B) f(x,) & f(x) B94R/IME;
(C) (x,, f(x,)) BBAZ y = f(x) IR
(D)f(x) RR f(x) BHRIE, (x,,f(x,) BRRMLE = f(x) K5~

EAR-EH=H F-£1370



l1A78

(20004E2)iZB/H f(x) HREXEX ")+ [ ()] =x
B f@=0m ()
(A) £(0) B f(x) FIRAKIE;
(B) £(0) & 1 (x) HyAR/ME;
(C) (0, £(0)) REiZky=f(x) BB ;
(D) £(0) F&Z f(x) HIRIE, (0, (0) ERRHMEZE y=f(x) HHK.

1A8H8
(20164F2) @EE f(x) FE (—oo,+0) LiELE, HEEHERMERR, M )
(A) BEH f(x) B2MRESR, BE v= /() B2TEA o

(B) B f(x) B2AMBES, B y=f(x) HIMER || /
(C) Bl f(x) HIMRESR, WE =/ IR E/\ ;
(D) B sf(x) AIMRESR, HWE y=/(x) B2MEA. W




1A98

(19984F2)MZk y= xln(e+ ch) (x>0) MANELTER

1A108

(20124E1, 2, 3)mﬁy=x2+f bl A g

xz—

(A) 0. (B) 1. (C) 2. (D) 3.

FON-EF =N E-£137



1A118

(19944F2)ig y=* *4 %
(1) REAIHREXEERE (2) EHEBRMMOAKEREGR;
(3) #miL%k; (4) 1EHHEER.

1A128

(19965 1,2)ERKE (—0,+0) N, 5T |x|‘1‘ +]|xP —cosx=0

(A) FosEtR (B) FAMNF—1%4R
(C) FEARMIER (D) AXFZIER

FIN-EH=n F-£1370



1A138

(20114E2)R/H £ (x)=In|(x - 1)(x-2)(x-3)| WEIMH ()

(A) 0 (B) 1 (C) 2 (D) 3

1 A148B

1h:4 f(x):xz(l—x)z; WHEE f'(x)=0 & (0,1) E( )
(A)TC3EMR (ByFANF11%EM
(CYEE{NF21%R (D)yFEANAFE3IITER

FsN-EH = F-£1370



1A158

(19934F3)iIGEH £ >0 B f(x)=lnx—)ec+k £ (0,+0) AERIMEA
(A) 3 (B) 2 (C) 1 (D) O

1A168

ERR x>0 B}, BFZRX W0+ )> .
x 1+x

FON-E&H =N E-£137



1A178

WY x>0 B, BAFER arctanx+1>§.
X

1 A18H8

(19934£5) 1 p.g BATFIREY, #*E ;+;=1

ERA: SHTFERN x>0.8 Lo lsy
V4 q

EIOR-EH =5 FT-£137



1A198

(20034E3) R £ (x) E [0,3] BEE, £ (0,3) AFTE, B
fO)+ fF(D)+ f(2)=3, f3)=1. KIELFIE £ (0,3), & f'(&)=0.

1 A28

(19965E3) i f(x) ERXIH [a,b] LRABZHSH, B f(@9)=f(B)=0,
f'(@) f'(b)> 0, MERAFHE S (a,b) M ne(ab) £ f()=0 & f"(n)=0.

ENR-EFzHFE-£137



1 A288

W f(x) % [a,b] LESE, 7 (a,b) AR, B f(a)= f(b)=0, A iERR.

(1) 3¢ e(ab), & f/(&)+ f(&)=0;
(2) Ane(a,b), & f@)-f)=0;
) 3¢ e(a,b), & f'(O)+A({)=0;

1 A298

i f(x) # [0,1] E&EL, £ (0,) AAIF, B /(D=0
WIERA 3 (01), & &'(5)=-1(&).

ERT-XF =5 E-£137



1 A308

(20104F2) iR % f(x) FEAXE [0,1] EELE, £FXE (0,1) ATS B
FO)=0,7 ()=, iER: FEEze (0,;],17 e Gl] BB &)+ )= &+,

1A318B

i f(x) E£XI8) |a,b] EFELE, £ (a,)) AR, B -
ElI2, iEFA: BE &.ne(a,b), FEE abf' (&) =1 f'(n).

EBA-XF =5 ET-£137



